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(b) In which of the following applications of Iron, rusting will occur most?
Support your answer with valid reason.

A B c D
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A - lIron Bucket electroplated with Zinc

B - Electricity cables having iron wires covered with aluminium
C - Iron hinges on a gate

D - Painted iron fence
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Pooja has green eyes while her parents and brother have black eyes. Pooja’s
husband Ravi has black eyes while his mother has green eyes and father has black
eyes.

(@) On the basis of the above given information, is the green eye colour a
dominant or recessive trait? Justify your answer.

(b) What is the possible genetic makeup of Pooja’s brother’s eye colour?

(c) What is the probability that the offspring of Pooja and Ravi will ave‘ﬁk
eyes? Also, show the inheritance of eye colour in ﬁ@é

0
help of a suitable cross. \té

(d) 50% of the offsprmg 0 ﬁg are gree . With help of cross
show how thi s—%v % OX—

The above images are that of a specialized slide projector. Slides are small
transparencies mounted in sturdy frames ideally suited to magnification and
projection, since they have a very high resolution and a high image quality. There is
a tray where the slides are to be put into a particular orientation so that the viewers
can see the enlarged erect images of the transparent slides. This means that the
slides will have to be inserted upside down in the projector tray.

To show her students the images of insects that she investigated in the lab, Mrs. lyer
brought a slide projector. Her slide projector produced a 500 times enlarged and
inverted image of a slide on a screen 10 m away.




